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Answer all questwns "
" Each questwn carnés 1 mark

(A) Fxll in the blanks
_ 1 Payment of dmdend is treated as.a’
-2 'Fund flow refers to changes in —————— ca;‘atal S L
8" Turn over - ratios measures ————— of the busmess ' S )

FERR. S 7 D Companson, comparmg two. ‘o miore departments of the same busmess ﬁrm ;
with the objective of making meamngful analysis. wio e '

ngher margin of. safety is the 1ndlcat10n of --——-—-— proﬁtebil_ity.
(B) Miiltiple- choice % HEY R o
76 The basm function of: management accountmg is to o

actlwty in cash flow statement

(a) Record all busmess transactlons

(b) Interpret the ﬁnanclal data

(c) A551st the management in performmg its functlons eﬂ'ectlvely
(d) Fmanc1a1 accountmg ' '

' 7 The current ratlo of a company is 2 1 ‘Wluch of the followmg suggestmn would decllne the
ratlo 7 '

() Issuc of new sharee.
(b) To purchase stock for cash.
(¢) Bills re'ceiveble dishonoured. '
~ (d) Purchase of fixed asset,
8 Inm ease m a fixed asset due to pu1 ‘chase'i is
(a) Som ce of fonds. (b) Use of funds '
(c). Increase in stock., - | (d) All ,cf_ the:_‘s_c.‘ |

Turn over



<
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9 Ié}c,rease in. theamount of 'l_;irl"ls payabl,e"l"é's.ult's in s

(a) Increase in Cash. ! Dgéreaé_e_m cash.

{¢) Cash paymentto bllls L (d) Néﬁéhéﬁg'é‘-iﬁ'cash.

10 At break-even point fixed cost will be equal to:

S 11

12
14
15

i
17
18

19
20

21

29

- (a) Vﬁﬁaﬁlg-cq“sﬁ,‘ et (b) Profit.

@ Contribution” ' Via) Sales R
TR S © (10x 1= 10 marks)
Answer any elghtguesnons S

- E‘ap{;q;ues;ior_z carries 2 marks. .

What do you mean, by aﬁerag"e anélys_is' 2

]jeﬁl-;e P/V ra.t_iq. AT _
Listautliquidity ratios, .~
What do :yo_li maanby lnternai analysis ?

What is key factor roo

Compute trend percentage of working capital of Z Ltd, taking 2011 as base year from the
following: . oA ! om the

Year 0 . gp11 2012 2013 2014 2015
Working capitalRs. : 50,000 20,000 25,000 10,000 - 1,76,000

Calculate quick ratio if current assets Rs. 52,000 (include cash Rs. 10,000, Stock: Rs. 9,000
and Prepaid expense Rs, 3,000) and Current liabilities Rs. 22,000. ' ’

Compute wo:b_l%ing capital if Total assets Rs. 6,00,000. (which-inclu’de Machinq‘fy Rs. 1,00,000

- and furnitare Rs. 50,000): €urrent liabilities Rs. 1,50,000 (which include Outstanding expenses

Rs. 10,000). . - ,

'Célcula_te Margin of safety 1f :; Fixed Cost Rs. 1,00,‘000, PV raﬁ'j_'d 50%';"Sailes Rs. 4,00,000

Calculate current assets which current ratio is 4 : 1 and working cdpifé}'zis Rs 1,50,000.
| - o | " | (8‘#2.-;16marks)
- Part C o :
o ;{i'n'swer any sik questions.
. Each question carries 4 marks,
List and explain -d-iffergﬂt fbols for financial aﬁélysi's-." . N e
Célc—ulafe,thé value of creditdxjs_if sales'Rs, 2‘,50,0{_)0; ‘gr“c')ss- pr@ﬁf ratio 2'0% ‘Creditors velocity

" 73 days, ‘Opgnix_lg' stock Rs. ‘25;000 ‘and closing stock is double the amount of opening stock.

Assume number of working days'fzis 365 in a year. ‘_

e e

S S OU——




s ~©  Duors

23 Followmg are obtained from the recprds of factory

Bales (4000 umts @Rs. 25 eaoh)
~ Variablecost -

leed cost

,ﬂo 000-
. 72,000
16 800

CalcuIate @) PN ratio ; (11) Break-even sales (111) Margm of safety
) .24 You are requ1red to calculate return on capxtal employed from the ‘Eollowmg

Proﬁt aﬁer tax . _ 7 Rs 3, 00 000-
Rate of i mcome tax v _ | N o 50%.
8% convertxble debentures or Rs 100 each fuliy pa.ld ' Rs._s,,().ﬂ,'of)_()' : _ | o
Current assets B Rs '5_-,50,‘_0_‘01_)_- 7_ B .. .' | ) ‘
(__)urrenthabl_htles Rs 2 '50 000 e
-'Fixed-asse‘ts (at Cost) Rs 10 95,000
.‘ | Deprec:atlon upto date , ‘ | Rs 1 25 000‘ -
25 From the followmg ascertam et cash from operatmg actlwtles B |
Net proﬁt before tax ' Rs 60 000- |
fInco_;lqe tax paid o s _ o Rs. 27 000
Depreciation on ﬁxed assets o ,Rs 2 500'--_ B
'Proﬁt on sale of land 7 | .Rs 5,000
' ,Interest on debentures paid | S | L Rs. 1, 500:
D1v1dend recewed oL o - o N o ~ Rs. 1‘000'
'Proceeds from earthquake dlsaster settlement e Rs 2 000,
“Thereasé in the amotnt of stoek R Rs 750
.'Decreasem:Debtors | Rs 300'7‘
lDecrease in credltors Rs 250

96 Sale of a product amounts to 200 units per month at Rs 10 per umt Fixed overhead is Rs. 400 s
per month and variable cost Rs. 6 per unit. There 1s a proposal to reduce prices by 10%.
Celculate present and future PV . ratio, ' . :

27 List out the merits of cash‘ flow statement analys-is- . k Coa ST

28 “Ratio analysis is a tool to examine the heaith of a busmess Wlth a v1ew to make ﬁnanclal R

results more mtelhglble Explam L _
! S o : (6-><4".—_"24'marks),

‘Turn over




29 From the fOIIOW1ng data, you are required. to calculate the Break-even pomt and sale value at

this point :

- Answer any two questions,
Each questwn carries 15 marks.

Selhng pnce pre umt

Direct material cost per umt

D1rect labour cos|, per unit

F:xed overheads

4

—P-ari't'-D. :

_ Var1ab]e overhead @ 60% on-direct labour

A‘I‘rade dlscount

If sales are 15% and 20% above the break-even Volume, determme the net proﬂt

30 Prepare a cash ﬂow statement from the following balance sheets of Mr Kamal Fig ’000

Rs 20

,_ u" Rs. 8
Rs. 5

Rs. 24,000
4%

Liabilities 2015 | 2016 | Assets | 2015 | 2016 |
‘Ourrenthablhtles s 350 (5 400 Cash | 50 | 40 |
Loan fromZ . o 250 Debtors 400 450
Loan fiom Bank | 400 | 300 Stock 300 | 250"
Capital i . 1,500 | 1540 | Land ‘ 300 | 400 |
| B | Building | 500 | 550 |
Machinery | 700 | 800
2,250 | 2490 | 02,250 | 2490

Durmg the ; year Mr Kamal brought an additional capltal of Rs. 1,00,000 and h:s drawings
during the 3 year were Rs. 3,10,000. Provrslon for deprematmn on machmery -opening balance
Rs. 8;00,000. Closmg balance Rs. 4,00,000. No deprecxatmn need to be prov1ded for other

assets.

- 81 Prepare the Balance Sheet with the help of the followmg ratlos
Total Assets/ Net Worth 3. 5 :

Sales /Fixed Assets ‘
Sales/ Current Assets
Sales/ -Iﬁvehtory-l |
Sales/ Debtors
Current ratio

-+ ‘Annual sales

6

15
18

2.5

Rs. 25,00,000
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